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SECT 0.0 1.1 — — 0.3 — — 0.3 — —
SECT 2.1 2.1 0.1 0.60 1.3 0.7 0.50 1.1 0.3 0.30 0.6
SECT 5.2 3.1 0.3 0.20 0.6 0.8 0.75 2.3 0.3 0.30 0.9
SECT 9.0 3.8 1.5 0.90 3.4 0.2 0.50 1.9 0.3 0.30 1.1
SECT 11.0 2.0 2.0 1.75 3.5 0.2 0.20 0.4 0.3 0.30 0.6

i 11.0 8.8 5.7 3.2
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SECT 0.0 0.0 —
SECT 2.1 2.1 2.1 2.1
SECT 5.2 3.1 3.1 3.1
SECT 9.0 3.8 3.8 3.8
SECT 11.0 2.0 2.0 2.0

11.0

11.0
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SECT 0.0 0.7 — — 0.2 —

SECT 2.1 2.1 0.8 0.75 1.6 0.2 0.20 0.4

SECT 5.2 3.1 0.8 0.80 2.5 0.2 0.20 0.6

SECT 9.0 3.8 0.8 0.80 3.0 0.2 0.20 0.8
SECT 11.0 2.0 0.8 0.80 1.6 0.2 0.20 0.4

B 11.0 8.7 2.2
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SECT 0.0 1.3 — — 1.4 — — 0.6 —
SECT 2.1 2.1 0.8 1.05 2.2 2.1 1.6 1.50 3.2 0.7 0.65 1.4
SECT 5.2 3.1 1.0 0.90 2.8 3.1 1.8 1.70 5.3 0.8 0.75 2.3
SECT 9.0 3.8 2.1 1.55 5.9 3.8 2.1 1.95 7.4 0.9 0.85 3.2
SECT 11.0 2.0 2.2 2.15 4.3 2.0 2.3 2.20 4.4 1.1 1.00 2.0
i 11.0 15.2 11.0 20.3 8.9
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EiTR INEVRETEY) (0.30+0.15) X 10.0
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0.0 —
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1.3 0.0 1.30
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SECT 0.0 0.30 — — 0.30 — —
SECT 2.1 2.1 0.40 0.350 0.7 0.10 0.200 0.4
SECT 5.2 3.1 0.40 0.400 1.2 0.10 0.100 0.3
SECT 9.0 3.8 0.30 0.350 1.3 0.10 0.100 0.4
SECT 11.0 2.0 0.30 0.300 0.6 0.20 0.150 0.3
B 11.0 3.8 1.4
3.8X0.04= 0.2
0.2X2.35= 0.5 1.4 X2.35= 3.3
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SECT 0.0 0.77 — — 0.79 — —
SECT 2.1 2.1 0.77 0.770 1.6 0.79 0.790 1.7
SECT 5.2 3.1 0.77 0.770 2.4 0.79 0.790 2.4
SECT 9.0 3.8 0.77 0.770 2.9 0.79 0.790 3.0
SECT 11.0 2.0 0.77 0.770 1.5 0.79 0.790 1.6

i 11.0 8.4 8.7
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0.0

SECT0. 0 0.8 1.3 0.65 0.5
SECT13.0 1.0 144 7.85 1021
SECT25.0 120 109 12.65 151.8
SECT42. 0 17.0 6.2 855 145.4
SECTS5. 0 13.0 21 415 54.0
SECT70.0 15.0 0.0 1.05  15.8

& 3 469. 6
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SECTO0.0 0.0

0.9 4.7 2.35 2.1
SECT15.0 14.1 4.7 4.70 66. 3
SECT25.0 10.0 4.2 4.45 44.5
SECT32.0 1.0 6.0 5.10 35. 7
SECT37.0 5.0 0.0 3.00 15.0
a8 § 163. 6
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SECTO0.0 0.0
1.1 8.4 4.20 4.6
SECT5. 0 3.9 8.4 8.40 32.8
SECT10.0 5.0 11.3 9.85 49.3
SECT18.0 8.0 10.0 = 10.65 85.2
SECT24.0 6.0 12.2 11.10 66. 6
SECT50. 0 26.0 13.7 12.95 @ 336.7
SECT68. 0 18.0 10.9 12.30 221.4
SECT80.0 12.0 1.8 9.35 112.2
SECT90.0 10.0 1.8 1.80 18.0
(=] BT 4.2 6. 00
4.0 4.20 4.20 16. 8
1,003. 6 2. 00% 20. 1
a8 i 1,003. 6 20. 1
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SECTO0.0 0.0
2.2 4.2 2.10 4.6
SECT5. 0 2.8 4.2 4.20 11.8
SECT13.0 8.0 4.7 4. 45 35.6
SECT20.0 1.0 3.4 4.05 28.4
SECT28.0 8.0 0.2 1.80 14.4
a8 & 94.8
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SECT 0.0 0.0 — —

SECT 7.6 7.6 0.1 0.05 0.4

SECT 9.2 1.6 0.1 0.10 0.2 0.0 — — 0.0 — —

2.3 0.0 0.05 0.1 1.3 0.65 1.5 1.8 0.90 2.1

SECT 26.2 14.7 0.0 0.00 0.0 1.3 0.65 9.6 1.8 0.90 13.2
SECT 36.8 10.6 0.2 0.10 1.1 0.1 0.70 7.4 2.0 1.90 20.1
SECT 42.0 5.2 0.2 0.20 1.0 0.1 0.10 0.5 2.0 2.00 10.4
SECT 42.3 0.3 0.2 0.20 0.1 0.0 0.05 0.0 1.3 1.65 0.5
SECT 45.0 2.7 0.2 0.20 0.5 2.3 1.15 3.1 3.2 2.25 6.1
SECT 48.0 3.0 0.0 0.10 0.3 0.9 1.60 4.8 1.3 2.25 6.8
SECT 51.7 3.7 0.1 0.50 1.9 0.0 0.65 2.4

i 51.7 3.7 28.8 61.6
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SECT 0.0 0.0 —
SECT 7.6 7.6 7.6 7.6
SECT 9.2 1.6 1.6 1.6
SECT 26.2 17.0 17.0 17.0
SECT 36.8 10.6 10.6 10.6
SECT 42.0 5.2 5.2 5.2
SECT 42.3 0.3 0.3 0.3
SECT 45.0 2.7 2.7 2.7

45.0
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0.18 2.80 0.07 10.0 0.07 143
SECTO0.0 0.0 (0.1872% 7 /4)%2. 8 10/0.07
6.1 6.3 3.15 19.2
SECT25.0 19.0 6.3 6.30 119.7
SECT50. 0 25.0 2.4 4.35  108.8
SECT60. 0 10.0 1.4 1.90 19.0
SECT75.0 15.0 4.6 3.00 45.0
10.8 4.6 4.60 49.7
SECT87.0 1.2 0.0 2.30 2.8
364.2 2. 00% 1.3
& § 364. 2 1.3
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0.0 0.10 1.60 0. 01 10.0 0.01 ' 1,000
SECTO0.0 0.5 0.2 0.10 0.1 0.172% 7 /4)*1.6 10/0. 01
0.5 3.8 2.00 1.0
SECT6. 0 ) 3.8 3.80 20.9
SECT10.0 4.0 6.7 5.25 21.0
SECT20. 0 10.0 9.4 8.05 80.5
SECT30. 0 10.0 9.5 9.45 94.5
SECT35.0 5.0 6.0 1.75 38.8
SECT39.0 4.0 6.2 6.10 24.4
SECT41. 3 2.3 3.9 5.05 11.6
2.0 0.0 3.10 6.2
299.0 2. 00% 6.0
& & 299.0 6.0
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SECT 0.0 0.0 — 3.3 — —
SECT 4.0 4.0 1.2 0.60 2.4 3.1 3.20 12.8
SECT 6.5 2.5 1.0 1.10 2.8 2.7 2.90 7.3
SECT 8.0 1.5 0.0 0.50 0.8 3.1 2.90 4.4
B 8.0 6.0 24.5
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SECT 0.0 3.3 — —
SECT 4.0 4.0 3.1 3.20 12.8
SECT 6.5 2.5 2.7 2.90 7.3
SECT 8.0 1.5 3.1 2.90 4.4
B 8.0 24.5
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0.0 — — 0.0 — —
SECT 15.5 1.5 0.1 0.05 0.1 0.2 0.10 0.2
SECT 18.5 3.0 0.3 0.20 0.6 0.0 0.10 0.3
B 4.5 0.7 0.5




HEREBEEHREF

208/204 A MK FE M-I 5 105(FDA

R PR 1F L
5 Ml om o owmm mlw owm R w% R W oW ¥ MK B W om E BWH &
0.0 —
SECT 15.5 1.5 1.5 1.5
SECT 18.5 3.0 3.0 3.0

4.5

4.5




208/204 bEHiX -6 75105 (FH) B gy

IRFE 2 467105 () B

TF Fehl) gl Hik BE | HAL S
+ T

Al b BHO. 28m 3 3.6 | m’

T WE+ BT 16.7 | m’

U T T & 10 68.3 | m°
jE I

g2 78.4 | m°
BHEIEAS [ T

BE B 25.0 | m




il

3.6

T

=
2

Bc

16.7 — 090 = 18.6

ﬁj\

=

\ 4

00 =+ 090=0.0

v

Bt

16.7

208/204 £ & -k 75 105(E)B

H 0.0

3.6+0.0—18.6—0.0= A15.0

R

B 0.0

dA1068EE KYFRA

FRt
(H1L1)
A15.0




HEREBEEHREF

208/204 AKX EEHI-IE 5 105(H)B

] W A RITL 37
B Ml om o owmm mlw owm R w% R W oW ¥ MK B W om E BWH &
SECT 25.0 0.0 — — 0.0 — — 0.0 — —
SECT 30.5 5.5 0.1 0.05 0.3 0.8 0.40 2.2 2.5 1.25 6.9
SECT 35.5 5.0 0.2 0.15 0.8 0.5 0.65 3.3 3.0 2.75 13.8
SECT 45.5 10.0 0.2 0.20 2.0 1.2 0.85 8.5 4.5 3.75 37.5
SECT 50.0 4.5 0.0 0.10 0.5 0.0 0.60 2.7 0.0 2.25 10.1

H 25.0 3.6 16.7 68.3
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SECT 25.0 0.0 — —
SECT 30.5 5.5 3.0 1.50 8.3
SECT 35.5 5.0 3.5 3.25 16.3
SECT 45.5 10.0 5.0 4.25 42.5
SECT 50.0 4.5 0.0 2.50 11.3

i 25.0 78.4
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SECT 25.0 0.0
SECT 30.5 5.5 5.5 5.5
SECT 35.5 5.0 5.0 5.0
SECT 45.5 10.0 10.0 10.0
SECT 50.0 4.5 4.5 4.5

i 25.0 25.0
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SECT5. 0 4.2 1.2 11.20 47.0
SECT10.0 5.0 10.6 ~ 10.90 54.5
SECT30. 0 20.0 8.7 9.65 193.0
SECT50. 0 20.0 4.9 6.80 136.0
SECT/0.0 20.0 0.6 2.75 95.0
SECT82.0 12.0 1.5 1.05 12.6
SECT88. 3 6.3 1.5 1.50 9.5
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SECT 0.0 0.0 — 0.0 — — 0.2 — —
SECT 3.5 3.5 0.2 0.10 0.4 0.6 0.30 1.1 3.0 1.60 5.6
SECT 9.0 5.5 0.0 0.10 0.6 7.1 3.85 21.2 3.6 3.30 18.2
SECT 15.0 6.0 1.0 4.05 24.3 2.1 2.85 17.1
SECT 20.0 5.0 0.0 0.50 2.5
SECT 32.0 12.0
SECT 41.0 9.0 0.0 0.00 0.0 0.0 0.00 0.0
SECT 47.0 6.0 2.2 1.10 6.6 3.9 1.95 11.7
SECT 56.0 9.0 2.1 2.15 19.4 4.4 4.15 37.4
SECT 60.0 4.0 0.0 1.05 4.2
i 60.0 1.0 79.3 90.0
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SECT 0.0 0.7 — —
SECT 3.5 3.5 3.5 2.10 7.4
SECT 9.0 5.5 4.1 3.80 20.9
SECT 15.0 6.0 2.1 3.10 18.6
SECT 20.0
SECT 32.0
SECT 41.0 0.0 0.00
SECT 47.0 6.0 4.4 2.20 13.2
SECT 56.0 9.0 4.4 4.40 39.6
SECT 60.0
B 30.0 99.7




% BB E

i H

208/204 A HX

oAb JF111(H)

fa| BEREAR A T
5 Ml om o owmm mlw owm R w% R W oW ¥ MK B W om E BWH &
SECT 0.0 0.0 —
SECT 3.5 3.5 3.5 3.5
SECT 9.0 5.5 5.5 5.5
SECT 15.0 6.0 6.0 6.0
SECT 20.0 5.0 5.0 5.0
SECT 32.0 12.0 12.0 12.0
SECT 41.0 9.0 9.0 9.0
SECT 47.0 6.0 6.0 6.0
SECT 56.0 9.0 9.0 9.0
SECT 60.0 4.0 4.0 4.0
B 60.0 60.0
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0.30 ' 10.00 0. 71 10.0 0.71 14
SECTO0.0 1.1 (0.372x 7 /4) %10 10/0. 71
6.7 1.3 1.20 8.0
SECT20.0 13.3 1.3 1.30 17.3
SECT40. 0 20.0 6.9 4.10 82.0
SECT60. 0 20.0 8.1 7.50  150.0
SECT80. 0 20.0 200 14.05 281.0
SECT100. 0 20.0 9.7  14.85  297.0
6.5 9.7 9.70 63. 1
SECT107.0 0.5 0.0 4.85 2.4
900.8 2.00% 18.0
& & 900. 8 18.0
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SECT 0.0 0.2 — — 0.1 — — 1.3 — —
SECT 2.0 2.0 0.1 0.15 0.3 5.3 2.70 5.4 9.3 5.30 10.6
SECT 4.0 2.0 0.0 0.05 0.1 15.0 10.15 20.3 9.4 9.35 18.7
SECT 7.0 3.0 0.1 0.05 0.2 1.0 8.00 24.0 2.9 6.15 18.5
SECT 9.5 2.5 0.1 0.10 0.3 1.3 1.15 2.9 3.8 3.35 8.4
SECT 12.5 3.0 0.1 0.10 0.3 0.0 0.65 2.0 0.6 2.20 6.6
SECT 20.0 7.5 0.2 0.15 1.1 0.0 0.00 0.0 0.5 0.55 4.1
SECT 40.0 20.0 0.1 0.15 3.0 0.1 0.05 1.0 3.4 1.95 39.0
SECT 48.5 8.5 0.2 0.15 1.3 0.9 0.50 4.3 7.1 5.25 44.6
SECT 50.5 2.0 0.1 0.15 0.3 11.2 6.05 12.1 10.6 8.85 17.7
SECT 53.5 3.0 0.8 0.45 1.4 1.3 6.25 18.8 10.2 10.40 31.2
SECT 58.5 5.0 1.1 0.95 4.8 0.9 1.10 5.5 9.6 9.90 49.5
SECT 61.0 2.5 1.1 1.10 2.8 0.9 0.90 2.3 9.6 9.60 24.0
SECT 64.0 3.0 1.1 1.10 3.3 4.3 2.60 7.8 9.4 9.50 28.5
SECT 68.0 4.0 0.2 0.65 2.6 4.0 4.15 16.6 9.5 9.45 37.8
SECT 75.0 7.0 0.7 0.45 3.2 0.6 2.30 16.1 9.1 9.30 65.1
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] W A RITL 37
B BBy om o wu mRlwom ¥ wE R W om ¥ BE RN Em T HE R
SECT 77.5 2.5 0.3 0.50 1.3 4.5 2.55 6.4 9.2 9.15 22.9
SECT 81.0 3.5 0.4 0.35 1.2 0.8 2.65 9.3 9.1 9.15 32.0
SECT 83.0 2.0 0.0 0.20 0.4 8.6 4.70 9.4 9.2 9.15 18.3
SECT 85.0 2.0 0.2 0.10 0.2 0.4 4.50 9.0 0.7 4.95 9.9
SECT 90.0 5.0 0.0 0.10 0.5 0.0 0.20 1.0 0.0 0.35 1.8

i 90.0 28.6 174.2 489.2
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SECT 0.0 1.8 — —
SECT 2.0 2.0 9.8 5.80 11.6
SECT 4.0 2.0 10.0 9.90 19.8
SECT 7.0 3.0 3.4 6.70 20.1
SECT 9.5 2.5 4.3 3.85 9.6
SECT 12.5 3.0 1.1 2.70 8.1
SECT 20.0 7.5 1.0 1.05 7.9
SECT 40.0 20.0 3.9 2.45 49.0
SECT 48.5 8.5 7.6 5.75 48.9
SECT 50.5 2.0 11.1 9.35 18.7
SECT 53.5 3.0 10.7 10.90 32.7
SECT 58.5 5.0 10.1 10.40 52.0
SECT 61.0 2.5 10.1 10.10 25.3
SECT 64.0 3.0 9.9 10.00 30.0
SECT 68.0 4.0 10.0 9.95 39.8
SECT 75.0 7.0 9.6 9.80 68.6
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SECT 77.5 2.5 9.7 9.65 24.1
SECT 81.0 3.5 9.6 9.65 33.8
SECT 83.0 2.0 9.7 9.65 19.3
SECT 85.0 2.0 1.2 5.45 10.9
SECT 90.0 5.0 0.0 0.60 3.0

i 90.0 533.2
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SECT 0.0 1.3 — —
SECT 2.0 2.0 2.0 2.0
SECT 4.0 2.0 2.0 2.0
SECT 7.0 3.0 3.0 3.0
SECT 9.5 2.5 2.5 2.5
SECT 12.5 3.0 3.0 3.0
SECT 20.0 7.5 7.5 7.5
SECT 40.0 20.0 20.0 20.0
SECT 48.5 8.5 8.5 8.5
SECT 50.5 2.0 2.0 2.0
SECT 53.5 3.0 3.0 3.0
SECT 58.5 5.0 5.0 5.0
SECT 61.0 2.5 2.5 2.5
SECT 64.0 3.0 3.0 3.0
SECT 68.0 4.0 4.0 4.0
SECT 75.0 7.0 7.0 7.0
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SECT 77.5 2.5 2.5 2.5
SECT 81.0 3.5 3.5 3.5
SECT 83.0 2.0 2.0 2.0
SECT 85.0 2.0 2.0 2.0
SECT 90.0 5.0 5.0 5.0

i 90.0 90.0
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B R % BB
[T Fy B E IBEE % g Ef = E RAREIFLEY B B
SECTO0.0 0.5
SECT7.0 1.0 2.5 1.50 10.5
SECT20.0 13.0 5.1 3. 80 49.4
SECT30.0 10.0 10.7 7.90 79.0
SECT35.0 5.0 12.5 | 11.60 58.0
SECT40.0 5.0 8.8 10.65 53.3
SECT45.0 5.0 11.5 | 10.15 50.8
10.5 11.5 | 11.50  120.8
SECT56. 5 1.0 0.0 5.75 5.8
427.6 2.00% 8.6
8 & 421.6 8.6
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SECTO0. 0 0.3
0.2 2.1 1.50 0.3
SECT20.0 19.8 2.1 2.70 53.5
SECT35.0 15.0 2.8 2.75 41.3
a8 & 95.1
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Bt AR (RARIAXRE-Y DHEERTE)  (10m3Hf-Y OHTERE)
Am4& BB
EE ) H 2 IBAKE % H =2 ER =mE B B ARKRAKE xsY B OB
SECTO0.0 0.1
1.3 0.1 0.10 0.1
SECT2.0 0.7 0.6 0.35 0.2
SECTS8.0 6.0 0.8 0.70 4.2
SECT13.0 5.0 0.9 0.85 4.3
0.7 0.1 0.50 0.4
SECT15.0 1.3 0.1 0.10 0.1
& & 15.0 9.3
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SECTO0.0 0.1
SECTS. 0 8.0 0.1 0.10 0.8
SECT14.5 6.5 0.2 0.15 1.0
SECT18.0 3.5 0.1 0.15 0.5
& i 1.5
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iEEy #h %ﬁ%ﬁﬁﬁ %) = Wrom F B = Wrom F B = W om F B &=
NO.0+15.0 0.4 — —
NO.1 5.0 0.0 0.20 1.0
BC.1 5.0 0.0 0.00 0.0 0.0 0.00 0.0
SP.1 5.6 0.4 0.20 1.1 0.4 0.20 1.1
EC.1 5.6 0.2 0.30 1.7 0.3 0.35 2.0
NO.2 3.8 0.0 0.10 0.4 0.3 0.30 1.1
3.2 2.00% 0.1
i 25.0 3.2 5.2 0.1
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B Ml om o owmm mlw owm R w% R W oW ¥ MK B W om E BWH &
NO.0+15.0 0.0 — — 0.0 — — 0.1 — 0.1 —
NO.1 5.0 5.4 2.70 13.5 1.7 0.85 4.3 0.1 0.10 0.5 0.1 0.10 0.5
BC.1 5.0 5.4 5.40 27.0 4.2 2.95 14.8 0.1 0.10 0.5 0.1 0.10 0.5
SP.1 5.6 2.1 3.75 21.0 4.7 4.45 24.9 0.1 0.10 0.6 0.1 0.10 0.6
EC.1 5.6 0.2 1.15 6.4 1.7 3.20 17.9 0.1 0.10 0.6 0.0 0.05 0.3
NO.2 3.8 0.0 0.10 0.4 0.1 0.90 3.4 0.1 0.10 0.4

i 25.0 68.3 65.3 2.6 1.9
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(M)
NO.0+16.8 0.0 — — 0.0 — —
2.65 2.8 1.40 3.7 2.8 1.40 3.7
NO.1 0.55 2.8 2.80 1.5 2.8 2.80 1.5
3.36 2.6 2.70 9.1 2.6 2.70 9.1
2.1 — — 2.1 — —
BC.1 1.64 2.2 2.15 3.5 2.2 2.15 3.5
1.37 2.4 2.30 3.2 2.4 2.30 3.2
0.26 0.0 1.20 0.3 0.0 1.20 0.3
2.9 — — 2.9 — —
SP.1 2.97 4.7 3.80 11.3 4.7 3.80 11.3
EC.1 4.61 5.9 5.30 24.4 5.9 5.30 24.4
NO.2 4.68 1.7 3.80 17.8 1.7 3.80 17.8
NO.2+2.92 3.37 0.4 1.05 3.5 0.4 1.05 3.5
0.3 — —
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NO.2 4.68 0.3 0.30 1.4
FEARIE 79.7 78.3
(1)
NO.0+15.0 0.3 — —
NO.0+16.47 1.47 0.3 0.30 0.4
1.8 — — 1.8 — —
NO.1 3.53 2.3 2.05 7.2 2.3 2.05 7.2
1.70 2.4 2.35 4.0 2.4 2.35 4.0
1.8 — — 1.8 — —
3.01 1.8 1.80 5.4 1.8 1.80 5.4
2.7 — — 2.7 — —
BC.1 0.28 2.5 2.60 0.7 2.5 2.60 0.7
NO.1+6.7 1.98 0.0 1.25 2.5 0.0 1.25 2.5
AHRE 20.2 19.8
o E 99.9 98.1
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BC.1 1.0 1.0 1.0 BC. Lf =17l 1.0
2.9 2.9 2.9
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180 6@300=1800 180 100,100
D)7-D13%x280 (2)1-D13 x 1800 N N
XTI HLT h—] 24N/t
8 | 8 Ay | ; e
§ —i : | B PN, Y
8 8 e g8 8 pi
N _1 | B B "": = f :
23 N g s
' (1D7-D13x 280
XHEZHALTFoh—
£ 3 % B =1 =® =R A
# 5 C = Foomy
vy —+ 24N/mm2 2.16 X 0.28 X 0.20 m? 0.121
il B 2.16 X 0.28 X 2 2 1.210
% fn SD345 D13 x 1800  1.80 X 0.995 X 1 kg 1.791
> 71 — B SD345D13x 1800 0.28%0.995X% 7 ke 1.950
FIAILTH—DI3 03 7.000
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NO.0+15.0 2.70 — — 2.7
NO.1 5.0 0.00 1.350 6.8
BC.1 5.0 0.00 0.000 0.0
SP.1 5.6 2.80 1.400 7.8
EC.1 5.6 2.60 2.700 15.1
NO.2 3.8 2.60 2.600 9.9 2.6
B 25.0 39.6 5.3
39.6X0.05= 2.0
2.0X2.35= 4.7
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NO.0+15.0 2.70 — — 2.50 — —
NO.1 5.0 2.70 2.700 13.5 2.50 2.500 12.5
BC.1 5.0 2.70 2.700 13.5 2.50 2.500 12.5
SP.1 5.6 2.70 2.700 15.1 2.50 2.500 14.0
EC.1 5.6 2.60 2.650 14.8 2.50 2.500 14.0
NO.2 3.8 2.60 2.600 9.9 2.50 2.500 9.5

i 25.0 66.8 62.5
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SECTO0.0 0.4
SECT20.0 20.0 1.8 1.10 22.0
SECT37.0 17.0 4.1 2.95 50.2
SECT46.0 9.0 0.0 2.05 18.5
68. 7 2. 00% 1.4
& i 68.7 1.4
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0.0 — — 0.0 — — 0.0 — —

SECT 90.5 2.7 0.0 0.00 0.0 3.1 1.55 4.2 2.7 1.35 3.6

SECT 92.0 1.5 0.0 0.00 0.0 3.9 3.50 5.3 2.8 2.75 4.1

SECT 95.5 3.5 0.0 0.00 0.0 1.9 2.90 10.2 1.7 2.25 7.9
SECT 101.5 6.0 0.0 0.00 0.0 2.1 2.00 12.0 3.1 2.40 14.4
SECT 105.5 4.0 0.0 0.00 0.0 0.6 1.35 5.4 2.6 2.85 11.4

i 17.7 0.0 37.1 41.4
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0.0 — —

SECT 90.5 2.7 2.7 1.35 3.6
SECT 92.0 1.5 2.8 2.75 4.1
SECT 95.5 3.5 1.7 2.25 7.9
SECT 101.5 6.0 3.1 2.40 14.4
SECT 105.5 4.0 2.6 2.85 11.4
i 17.7 41.4
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T.fd Fe 1) i Hikg g HAL {5
+T
8 TR N 90, 28m ik 61.5 m’
Rt (W) & T DT4t 61.5 m’
R AR ALy +-a SN 61.5 m’




& ®E ®H E & EHE = 5454/204

£ B KEE (GKERF)
Bt AR (RARIAXRE-Y DHEERTE)  (10m3Hf-Y OHTERE)
Am4& BB
EE ) H 2 IBAKE % H =2 ER =mE B B ARKRAKE xsY B OB

SECTO0.0 0.0
SECT20.0 20.0 0.2 0.10 2.0
SECT40.0 20.0 0.2 0.20 4.0
SECT60. 0 20.0 0.3 0.25 5.0
SECT80.0 20.0 1.8 1.05 21.0
SECT98.0 18.0 1.7 1.75 31.5

& & 61.5




5454/204 EAIKEE OKERG)  FERIEE
THE gail s Bk Ho LA %5
+T
Pt T N 9JED0. 28 m*Hk 71.2 m’
& 1 T 1.7 m’
LS &+ 22.0 m’
Rt GLERY) s T DT4t 69. 3 m’
R I TRV +-A =N 69. 3 m’




X

71.2

T =

Bc

1.7 =090=1.9

ﬁj\

=

5454/204 £ & KEROKERG)

\ 4

00 =+ 090=0.0

Bt

1.7

v

H 0.0

71.2+0.0—1.9—0.0= 69.3

R

B 0.0

\ 4

Ry

69.3




& & M = E & = 5454/204
£+ #/KER OKERG)
Bt Bt SEEER
A os & BB
miE 15 = miE 1y = miE 15 = miE Ty O H =
SECTO. 0 0.0 0.0
SECTY. 1 7.1 0.0 000 0.0 0.1 005 0.4 1.4 070 50
SECT15. 0 7.9 0.1 005 0.4 0.0 005 0.4 0.3 0.8 6.7
SECT25. 0 10.0 31 1.60  16.0 0.1 005 0.5 11 070 7.0
SECT40. 0 5.0 3.1 310 46.5 0.0 005 0.8 0.0 0.5 83
SECT42. 5 2.5 35 330 83
SECT47.0 4.5 3.3 340  15.3
SECT50. 5 3.5 0.1 170 6.0
SECT57. 0 6.5 0.6 0.3 2.3
SECT62. 5 5.5 0.2 040 2.2
4.4 0.0 010 0.4
& i 71.2 1.7 22.0 0.0




5454/204 EARIKEE OKEEH) B EHAFESR
TFdE Fe 1) i Hikg g HAL {5
+T
SECTO0. 0-5. 0 Ll i N 90, 28m ik 54. m’
& 1 T 3. m’
FEt PR ik T DT4t 50. m’
HEERFEAE ALy +w =N 50. m’
A AR A - ALy 1. m’
A - 0y L m’




SECTO0.0-5.0

il

54.0

T

=
2

Bc

33 = 090=37

ﬁj\

=

\ 4

00 =+ 090=0.0

v

Bt

3.3

5454/204 2 KEE-KERH

0.0

54.0+0.0—3.7—0.0= 50.3

R

B 0.0

“Eias
(thils)
50.3




& ®E ®H E & EHE = 5454/204

£ B KEE (FKEEH)
Bt ERRNE
Am4& BB
EE ) H 2 IBAKE % H =2 ER =mE B B ARKRAKE xsY B OB
SECT0.0-5.0 0.4

SECTO0.0 5.0 0.4 0.40 2.0

SECT6. 0 6.0 0.1 0.25 1.5

SECT13.0 1.0 0.1 0.10 0.7

SECT20.0 1.0 0.1 0.10 0.7

SECT32.0 12.0 0.3 0.20 2.4

SECT50.0 18.0 0.5 0.40 1.2

SECT58. 0 8.0 0.7 0.60 4.8

SECT63.0 5.0 0.3 0.50 2.5

SECT74.0 11.0 0.4 0.35 3.9

SECT94.3 20.3 0.4 0.40 8.1
SECT100. 0 5.1 0.6 0.50 2.9
SECT115.0 15.0 0.5 0.55 8.3
SECT144.0 29.0 0.1 0.30 8.1
SECT150.0 6.0 0.0 0.05 0.3

94.0 2.00% 1.1
& & 155.0 54.0 1.1




= =
& ®BE H E FH EHE £
Bt RAME RARIAREZ-Y OHERE) (10m3ZF=Y DHEARR
b= BB
mi& F iy E IWHEE % = Ef B B E RARE RLRY B =2
SECT32.0 0.0 0.00
SEGT50. 0 18.0 0.3 0.15 2.7
4.0 0.0 0.15 0.6
& & 3.3




5454/204 EARKEE OKEET) HEpE R

Tff eyl i Hikg g
+T

F/ a1l T N 900, 28m 55.0

A (UEY) E T DT4t 55. 0

RIS TRV +-a A 55.0

HR AR - ALy 1.1

TS - Ay 1.1




& & M = E & 5454/204
£ B/KER OKERD)
Bt ERNE
A os & BB
miE Tty 2 IMAKAE % = [EKES = B2 RAKFIXLEY B =
55.0  2.00% 1.1

SECTO. 0 0.0

SECT20. 0 20.0 1.2 060 12.0

SECT40. 0 20.0 1.3 1.25 250

SECT60. 0 20.0 0.4 0.8 17.0

SECT80. 0 20.0 0.4 040 80
SECT100. 0 20.0 0.1 025 50
SECT108. 5 8.5 0.7 040 3.4

& i 55. 0 11




* E T ih IR X 5| A 34.41289266 132.9359829



